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20. Superball Hits Wall Figure 7-24 shows an approximate plot of
force magnitude versus time during the collision of a 58 g Superball

(,\'\ ‘\) 98 with a wall. The initial velocity of the ball is 34 m/s perpendicular to
the wall; it rebounds directly back with approximately the same

speed, also perpendicular to the wall. What is F ™ the maximum

magnitude of the force on the ball from the wall during the

I K / collision?
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18. (II) A tennis ball of mass m = 0.060 kg ]
and speed v = 28 m/s strikes a wall at a /
45° angle and rebounds with the same
speed at 45° (Fig. 7-32). What is the \
impulse (magnitude and direction) given §

to the ball? N

/"45°

%

FIGURE 7-32 \
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2. 2D Center of Mass of
Three Objects Consider Fig.
8-14. Three masses located
in the x-y plane have the fol-
lowing coordinates; a 5 kg
mass has coordinates given
by (2, —3) m; a 4 kg mass
has coordinates (—4,2) m; a
2 kg mass has coordinates
(3, 3) m. Find the coordi-
nates of the center of mass
to two significant figures.
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27. Shell Explodes A shell is shot with an initial velocity v of
20 m/s, at an angle of 60° with the horizontal. At the top of the
trajectory, the shell explodes into two fragments of equal mass
(Fig. 8-26). One fragment, whose speed immediately after the ex-
plosion is zero, falls vertically. How far from the gun does the other
fragment land, assuming that the terrain is level and that air drag is
negligible?
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